AT-Skep Affirms

A. Interpretation: The phrase “morally permissible entails that an action is sanctioned by a normative code that acknowledges moral value and attempts to guide action. Skepticism is neg ground. Joyce
 writes,
Certainly the error theorist has no business claiming that “everything is permissible.” If moral nihilism is true, then nothing is moral obligatory, nothing is morally prohibited, and nothing is morally permissible either. Thus, one who claims that moral nihilism implies that everything is permissible must intend to denote some kind of permissibility other than moral—let’s just call it X-permissibility. But then an argument will be needed to show that the failure of moral discourse implies that everything is X-permissible [by this other standard], and those who wield the slogan have never, to my knowledge, developed any such argument. The same can be said of Dostoyevsky’s original version. If “permission” means theistically permitted, then if God does not exist then nothing is permitted (as Jacques Lacan once observed (1991: 139)). It’s possible that if God is dead then everything is X-permitted, but, again, an argument would be needed to make the connection.

Prefer Joyce’s definition since first, it is specific to moral permissibility instead of just permissibility and second, it speaks to the interaction between moral permissibility and skepticism.

B. Violation: My opponent says that if skepticism is true you affirm.

C. Standards:
1. Grammar: 
a. If an adverb is rendered null, the adjectival phrase itself is rendered impossible to evaluate. For example, in the statement is “This T-shell is very good,” if we don’t know what the word “very” is, it is impossible to determine how to evaluate this shell because we don’t know what the standard is for something to be “very good”. The word “morally” is senseless if morality doesn’t exist.
b. Moral permissibility implies that there is a moral code permitting in the first place because the term “moral permissibility” is grammatically equivalent to the term “permissible by morality.” So, in the absence of a moral code, it is impossible for something to be morally permissible.

c. The word permissible is an adjective describing “that which can be permitted”(Dictionary.com) but the verb “to permit” demands a subject to do the permitting, so in order for an action to be permissible, there must be a moral code permitting the action.

2. Precision: 
a. There is no need to equivocate moral permissibility and mere permissibility because mere permissibility can be expressed as “not prohibited” or “a-moral.” Since my interpretation is closest to the linguistic meaning of moral permissibility, it is the best.
b. Their interp blurs the distinction between falsity and senselessness; skepticism logically proves not that morality is false but that it is senseless because denying the truth of the premise “morality can exist” doesn’t render moral conclusions false, but rather unknowable.
c. If all actions are either permissible or impermissible morality becomes an analytically useless term since there no way to distinguish between moral and amoral properties.

d. If skepticism is true then all actions are permissible so the word “impermissible” becomes meaningless, which is both disingenuous and dangerous.
e. If the aff gets skep ground then there is no need for the word “morally” to modify the word “permissible,” so there would be no reason to insert it in the resolution. The fact that the resolution uses the word morally indicates that my interp is correct.
If I’m winning either the grammar or precision standard and proving that my interp is the most logically or linguistically coherent then my interp is the most educational since a) the search for ideal meaning must be constrained by grammar, a universally agreed upon set of rules that is used to maintain coherent meanings and communication and b) my arguments prove that the only avenue to debating the topic in a logical manner is to grant my interp. 

And, coherence is a side constraint on fairness concerns since a) otherwise we could just flip a coin to choose interps, and b) debate is undeniably an educational activity and this game must be constrained by the principle that debaters should learn and experiment intellectually with different arguments. If their theory silences arguments that they have functionally conceded to be valid and true, then accepting their interp sets the precedent that uncovering truth is unimportant. As an educator it is your role to reject such argumentation.

Back to standards:
3. Reciprocity
a. If the aff gets obligation ground, permissibility-by-an-ethical theory ground and skep ground and the neg only gets prohibition ground then it puts me at a 3-1 disadvantage. To compensate give the neg skep ground.

b. The aff concedes that my turn ground is to run skep negates arguments. However while this may abstractly sound like a sufficient burden in reality it is massively necessary but insufficient because in order for me to gain access to my skep negates arguments I have to beat back every justification for their interp because if I drop one of their arguments for why skep affirms they can extend it to win. 

Reciprocity is key to fairness because unequal starting points skew your evaluation of who is doing the better debating, and reciprocity frames the value of any other standard because it doesn't hurt fairness if both debaters have ground restricted equally, only if one's ground is smaller than the other's.
D. Voters

First vote on fairness since we can't have substantive clash on the issues in the round unless we each have a fair chance to engage in the discussion, and fairness is a key element of competitive activities. 
Second, vote on education since debate is an activity that students engage in for its educational worth – an affirmative ballot essentially agrees with the affirmative interpretation which is horrible for debate because it sets the precedent that false, non-topical arguments are kosher, so vote them down to set a norm against uneducational practices.
Vote down the debater because a) it is the best way to establish communal norms, b) rejecting the argument doesn’t solve back equitably for the time I invested in theory; my strategy has already been skewed, c) rejecting the argument doesn’t deter; they’ll win off substance and keep running the argument in conjunction with “reject the argument” arguments, and d) the logical conclusion of competing interpretations is that you should vote them down because they violated a rule of debate, in the same way you should vote someone down for violating rules like “no racial slurs” and “no misrepresentation of evidence. And theory is an issue of competing interpretations since reasonability demands an arbitrary standard of what is reasonable, and forces judge intervention.
Third, turns case. The education standards are substantive reasons why skepticism is neg ground so the skep in the AC is actually a reason to negate.
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